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Section A, B and C are compulsory for all Regular and Private students. Please

follow the instructions, given in each section. Marks distribution for all students

are as shown in question paper. The blind candidates will be given 60 minutes

extra time. DAVVonline.com
guE X mgﬁ‘m Section A : Objective

Regular 5x1=5 / Private 5x1=5
1. &3 F nai s/9Fast ¥ : The nth derivative of €3¥ is ;

(a) 3¢ (b) 3e™ (c) & 3" _ (d) 3%,
2. T a7 T@r #1 s%ar @ § : The curvature of any straight line is :
(a) O (b) m (¢) 1/m (d) e

3. f:fz sin® x cos® x dx 1 7 ¥ : Value of‘f?z -sin? x cos® x dx is :

(a) 8/625 (b) 4/621 (c) 8/693 (d) 4/617
4, Waw sawa wisor % + Ply)x=Q(y) =1 Integmtipg factor & :

Integrating factor of linear equation d—; + P(:y}x =Qy) is :

d
(a) gj Pdx (b) E_I Pdx (c) ej Pdy (d) e:"“'ﬂ‘fjr
5. frer F @ <9 91 0 gifiwor ® ¢ Which is Clairauts equation :
(a) x =Py +f(P) (b) y=px+f(C) () y=Px+f(P) d) y=x2+C

g € : WY I Section B : Short Answer Regular 5x2=10 / Private 5x3=15

1. afe If y=acos(logx)+bsin(logx) & @ U & then prove r2y2+xy1+:,r=0 97 and
2 : 2+ 1)y, =0.
XY, 9+t @n+ Dy, ,+("+ 1)y, . .
I snrar OR DAVVonline.com
figwity g & oF w1 y@T FisE | Expand ¢* by Maclaurin’s Theorem.

2. = Bear ¥ e g wft AR : Find the Cartesian Formula for Curvature :

2 -3/2
‘ 1+!%";‘ i DAVVonline.com
p =

d’x
dy2
Fagr OR

EeT y? = dax ¥ &g (x, y) O awar-Proar smr A | _ :
Find the radius of curvature of the parabola ¥ = dax at the point (x,%). -
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3. ) mdﬁ T A A SR | .
2 e DAVVonline.com
Find the value of 'rD m .
Hyar QR
frg i & : Prove that :
J""z Vsin x de
0 Vsinx + Veotx 4
4. = AR Solve: (L +4xy + 2y de + (1 + dxy +2x%)dy = 0
' swar OR
& FR : Solve : ¥ log y = xyp + p®
5. & #@ : Solve : (D2 -5D+6)y=x
991 OR
WW:SGIVE:&—2ﬂ+y=x&$inx ]
dx? dx DAVVonline.com
% ® : 4 swliw Section C : Long Answer Regular 5x5=25 / Private 5x6=30

Lo 23+ Tx? 4 x - 1 4t (x—2) # wrdh ¥ 2o i & i AR |
Expand 223+ 7x? +x-1 in power of (x — 2) by Taylor’s Theorem.

Fugr OR
freafafes aw $r s~ wffmt 319 £ : Find the asymptotes of the following curve :
x3+3x2y—4y3—x+y+ 3=0
2. ® a’x® =y (2a - y) T SABT T A |
Find the area of the curve a®x® = y? (2¢ ~ y).
a1 OR

§EUT r = (1 + cos 0) F #Yef awré A |
Find the entire length of cardioid r = (1 + cos _B).

3. fag fifsa : Solve:

n/2 . n n, 1
Iﬂ logsmxdx_——zlog2 OR 2log—2-

Fgqr OR
fZamed 5 - Show that :
in

% cos® 36 sin? 60 do
0 CO8 I*Sm F384.

4 =T AR : Solve : DAVVonline.com
yQ+xy)de+x(l-xy)dy=0. .
. smar OR
gaa™l ¥ F (Family of Cardioids) r = (1 - cos 6) F i €96 7o AR st o v ¥ |
Find the Orthogonal Trajectory of Family of Car
5. &d Ff¥d : Solve:
dy

dx4—y=xainx.

. gar OR.
e Ao A Bl w5 wE w5 02+ 1)y =« 7 T AR i

Solve by method of variation of paramters : D* + y=x

7500

dioids r = (1 - cos 8) where a is parameters,
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